% @ g divisdo de fragdes (fragdo adequada) (fragao
g : z ) =1 impropria)

Nome: Encontro: Data: Pontuagao:
1.1 2 6 _
6 2 5 7
S, 2_ 1.2
7 3 5 7
1.6_ 3.3_
8 5 7 2
1.5 4 5
9 4 5 8
6 1 1
9 2 5 9
7.1 4 2
5 4 373
1.7 4 3
5 6 9 4
3.5 _ 2 7 _
7 6 8 4
S 4 2 6 _
8 9 7 7
7.4 7.2
5 7 5 3
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% g g divisdo de fragdes (fracdo adequada) (fragéo
( :5 ) = impropria)

Nome: Encontro: Data: Pontuacao:
1.1 1 2 6 7

6 2 3 57 15
5;2_15_11 1 2 7

73 14 14 57 10
1.6 5 3.3 2

8 5 48 7 2 7

1.5 4 4;5_32_17
9 4 45 58 25 25
6 1 4 1 6 1 54 4
57273 13 57975 105
5 4 5 5 33
1,7_56 4.3_16

5 6 35 9 4 27
3,518 2,71

7 6 35 8 4 7

5.4 45 13 2 6 1

§ 9 32 3 77 3
244_49_29 7;2_21_21
5°7 20 720 5°3 10 “10
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